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L . . . 1 d CO2 | 13
With usual notation, derive the Rodrigues’s formula P, (x) = T (x°-1" [08]
n!dx
2. 7
With usual notation, prove that J_,, (x) =_|| — |cosx. CO2 | L3
% ™ [07]

3. Express f(x)=x’ —5x* +14x+5 in terms of Legendre’s Polynomials.
[07] | CO2 | L3

4. Three boys A, B and C are throwing a ball to each other. A always throws the ball to B
and B always throws the ball to C. But C is just as likely to throw the ball to B as to A. If [07]
C was the first person to throw the ball, find the probabilities that after three throws (i) A
has the ball (ii) b has the ball (iii) C has the ball.
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3. Express f(x)=x"-5x> +14x+5 in terms of Legendre’s Polynomials.
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4. Three boys A, B and C are throwing a ball to each other. A always throws the ball to B
and B always throws the ball to C. But C is just as likely to throw the ball to B as to A. If[07] | CO5 | L3
C was the first person to throw the ball, find the probabilities that after three throws (i) A
has the ball (ii) b has the ball (iii) C has the ball.




5.Ten individuals are chosen at random from a population and their heights in : ‘
inches are found to be 63,63,66,67,68,69,70,70,71,71. Test the hypothesis that the COs
mean height of the universe is 66 inches. (th0s =2.262 for 9d.1.)

6. When a coin is tossed 4 times find, using Binomial distribution, the probability of
getting (i) exactly one head (ii) at most three heads (1ii) at least three heads [07]

7.The sales per day in a shop are exponentially distributed with the average sale [07]

amounting to Rs. 10000 and net profit 8%. Find the probability that the net profit CO4
exceeds Rs. 3000 on two consecutive days.

0 1 0
8. Show that probability matrix P={1/6 1/2 1/3|is regular stochastic matrix 1071 o5
0 2/3 1/3

And find the associated unique fixed probability vector.

5.Ten individuals are chosen at random from a population and their heights in
inches are found to be 63,63,66,67,68,69,70,70,71,71. Test the hypothesis that the
mean height of the universe is 66 inches. (t00s =2.262 for 9d.1.)

[07]

6. When a coin is tossed 4 times find, using Binomial distribution, the probability of
getting (i) exactly one head (ii) at most three heads (iii) at least three heads [07]

7.The sales per day in a shop are exponentially distributed with the average sale [07]

amounting to Rs. 10000 and net profit 8%. Find the probability that the net profit
exceeds Rs. 3000 on two consecutive days.
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8. Show that probability matrix P=(1/6 1/2 1/3lis regular stochastic matrix [07] €03
0 2/3 1/3

And find the associated unique fixed probability vector.
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